PE0EH8 / Diaphragm Valve
VDV37UB %%l

VIGOUR

IR

s BRTHSARIERSINLETESS. ZNSESHSKER
- HEEREN, BN, SHImETmAEtt
< AR, BRFEFORES

 RAOHFSIRE

« EPFRESRMEARLE

« TEREERL S PCTFE, Vespel® ATk

VEE / ENER

40°C, 17bar 80°C, 15.1bar

i i i i
|

150°C, 12.9bar |

I \ \

| | |

|

EA (Bar)

—— PCTFE @Bz

BECO Pl / PFA {EE
I BARSE

A LIEED: 250 psig (17bar)
SENTIEES: 80~100 psig (5.5~6.8bar)
BRATIERE. -40°F ~ 159°F (-40°C ~ 71°C)
TENGEE: 10pin. Ra
%5
BH: see ordering info
&R Elgiloy®
eI PCTFE
FiR: AL
AEBitRER: <1x10° mbar I/s He
SNERIt R <1x10° mbar I/s He
MESH: Cv=2.8

Ei—o #91.36kg (BURTIELELIEIN)

172" S

Y

172" Faps




VIGOUR Diaphragm Valve / [GiEH#E
VDV37UB 7%l

=58RS (mm)

2-M5
AR DP6

7j — il?/:zl QP;" 0 clze 900
Ay il " .
IPUNENE

]
B
Fapiy

A
; nHOERE AR RS (mm)
‘ (mm) A B C E F G L H
| 1/2"_VFS 9N 10.2 ®57 [63.2 142 | 439 | 377 | 254 | 1346 | 80
‘ 5 1/2" VFS RIBL 102 57 | 63.2 | 142 | 439 | 37.7 | 254 | 1346 | 80

- 3/4" VFS MBS 12.8 ®57 [63.2 142 | 439 | 377 | 254 | 162.6 | 80

: 2-M5 3/4" VFS P2 12.8 O57 | 63.2 | 142 | 439 | 37.7 | 254 | 162.6 80
x AR DP6
Il

= #
n@l@w N gﬁ“ SEE ()

@ [ ’%ﬂq Lo O AORY R (mm)
m
L

(mm) A B C D E F G L H
1/2" VFS SMER 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 25.4 | 1346 | 125
1/2" VFS pigsy 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 254 | 1346 |125
3/4" VFS 5MBEL 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 | 254 | 162.6 | 125
3/4" VFS piger 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 [ 254 | 162.6 | 125

| BRI
VDV37UBS - M - MV8 - MV8 - VS -LO -P

WM& J L TZ/H5E

<. 3160 Z*H: VS001B
P: VSOO1A

) * FEESENR.

XA 1

M: Fz — 1

PC: Szh (Ei) 15.‘"%;ﬁ EFZFR

LO: B FHRikHiEie e

i I

FV8: 1/2" VFS PB4 oy
MV8: 1/2" VFS 4MB&L HRIEEIEIR

FV12: 3/4" VFS P84 ZSH: PCTFE (frf)
MV12: 3/4" VES SMBL1 VS: Vespel®

* BRI, IEEREHERE.




